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§ 1 N��C�

1. �Oe�N�=
´üN�, =
´÷N�, =
´�_N�?

(1) f : C −→ R

a 7−→ |a|
(2) V �AÛ�m, −→e ���½�ü �þ, N�

σ : V −→ V
−→a 7−→ σ(−→a ) = −→a − 2(−→a · −→e )−→e

(3) f : N −→ N

n 7−→ n+ 1

): (1) �ü, �÷, Ø�_.

(2) ü, ÷, �_.

(3) ü, �÷, Ø�_.

2. � f �8Ü S �8Ü S′ �N�, g �8Ü S′ �8Ü S′′ �N�, y²:

(1) XJ gf �üN�, K f �üN�;

(2) XJ� gf ÷N�, K g �÷N�.

y²: (1) é?¿� s1, s2 ∈ S, X f(s1) = f(s2), K gf(s1) = gf(s2). Ï

gf ´üN�, � s1 = s2, l
 f ´üN�.

(2) é?¿� s′′ ∈ S′′, Ï gf ´÷N�, ��3 s ∈ S, ¦ gf(s) = s′′, l


 s′ = f(s) ∈ S′, ¦ g(s′) = s′′, � g ´÷N�.

3. � f �8Ü S �8Ü S′ ��_N�, g �8Ü S′ �8Ü S′′ ��_N

�, K gf �8Ü S �8Ü S′′ ��_N�, � (gf)
−1

= f−1g−1.

y²: Ï� f � g Ñ�_, ¤± f−1g−1 ´8Ü S′′ � S ���N�, �

(f−1g−1)(gf) = f−1(g−1g)f = f−11S′f = f−1f = 1S ,

(gf)(f−1g−1) = g(ff−1)g−1 = g1S′g−1 = gg−1 = 1S′′ .
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§ 2 ���Ûó5

1. �:

p =

(

1 2 3 4 5 6 7

3 5 4 7 6 2 1

)

, q =

(

1 2 3 4 5 6 7

2 5 1 7 6 4 3

)

.

¦ pq, p−1qp, ¿r p, q ©OL«¤é��¦È.

): pq =

(

1 2 3 4 5 6 7

5 6 3 1 2 7 4

)

, p−1qp =

(

1 2 3 4 5 6 7

7 5 4 1 3 2 6

)

,

p = (13)(34)(47)(25)(56), q = (12)(25)(56)(64)(47)(73). (�¡ü�L«ªØ

��).

2. O�e����_Sê, ¿(½ÙÛó5:

(1)

(

1 2 3 4 5 6

3 4 5 6 1 2

)

; (2)

(

1 4 5 6 3 2 8 7

6 8 5 4 7 2 1 3

)

;

(3)

(

2 5 4 3 9 8 6 7 1

6 3 1 2 7 9 8 5 4

)

;

(4)

(

1 3 5 · · · 2n− 1 2 4 6 · · · 2n

2 4 6 · · · 2n 1 3 5 · · · 2n− 1

)

.

): (1) _Sê´ 8, ó.

(2) _Sê´ 20, ó.

(3) _Sê´ 11, Û.

(4) _Sê´ n, Ûó5Ó n �Ûó5.

3. O�e�ü��_Sê, ¿(½ÙÛó5:

(1) 5317246; (2) 384576192;

(3) 246813579; (4) 987654321.

): (1) _Sê´ 9, Û.

(2) _Sê´ 18, ó.

(3) _Sê´ 10, ó.

(4) _Sê´ 36, ó.

4. (½ i 9 k, ¦

(1) 237i864k5 ¤óü�; (2) 469k1i752 ¤Ûü�.

): (1) i = 1, k = 9.

(2) i = 8, k = 3.

5. O�e�ü��_Sê:
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(1) 135 · · · (2n − 1)(2n)(2n − 2) · · · 642;
(2) (2n+ 1)(2n)(2n − 1) · · · 321.
): (1) n(n− 1).

(2) n(2n+ 1).

6. ®��� p �_Sê� a, ¦ p−1 �_Sê.

): a.

7. ®�ü� x1x2 · · · xn �_Sê� a, ¦ xnxn−1 · · · x2x1 �_Sê.

): Ï� x1x2 · · · xn �_Sê +xnxn−1 · · · x2x1 �^Sê =
n(n− 1)

2
, 


xnxn−1 · · · x2x1 �_Sê = x1x2 · · · xn �^Sê, ¤± xnxn−1 · · · x2x1 �_

Sê =
n(n− 1)

2
− a.

∗
8. y²: é?ÛØ�L

n(n− 1)

2
���ê k, 7�3_Sê� k � n �

ü�.

y²: é k ^êÆ8B{.

Äk, � k = 1 �, 213 · · · n �_Sê� 1;

b½(Øé k − 1 ¤á

(

k ≤ n(n− 1)

2

)

, =�3 n �ü�

i1i2 · · · in (1)

Ù_Sê� k − 1, K7�3 j < k, ¦ ij < ik (ÄKdü��_Sê�
n(n− 1)

2
), l
3 j, k �m7kü����?Ò j ≤ r < r + 1 ≤ k, ¦

ir < ir+1. �ü�

i1 · · · ir−1ir+1irir+2 · · · in,

Kdü��_Sê =ü� (1) �_Sê +1 = k.

d8B{�n�(Ø¤á.
∗
9. 3¤k n ���¥, ©Okõ��_Sê� 1, 2, 3 ���?

): dü�����'X, ·��Iéü�(½�A��=�.

� k = 1 �, Ï?¿_Sê� 1 �ü�Ñ�±dü� 123 · · · n ��ü��

��ê
��, �_Sê� 1 �ü��ê�u P1(n) = n− 1.

du?� n �ü�Ñ�±d n− 1 �ü�V\ê n 
��. �� k = 2 �,

_Sê� 2 �ü��deã�ª��:

(a) 12 · · · n− 2 n− 1 −→ 12 · · · n− 3 n n− 2 n− 1;

(b) i1i2 · · · in−1 (_Sê 1) −→ i1i2 · · · in−2 n in−1;

(c) i1i2 · · · in−1 (_Sê 2) −→ i1i2 · · · in−1 n.
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¤±_Sê� 2 �ü��ê�

P2(n) = 1 + P1(n− 1) + P2(n− 1).

dd��

P2(n− 1) = 1 + P1(n− 2) + P2(n− 2),

. . . . . . . . . . . . . . . . . . . . . . . . . . . . .

P2(3) = 1 + P1(2) + P2(2),

¤± P2(n) = (n− 2) + (n− 1) + · · · + 2 =
(n− 2)(n + 1)

2
.

� n = 3 �, aquþ¡�?Ø, ��

P3(n) = 1 + P1(n − 1) + P2(n− 1) + P3(n− 1),

¤±

P3(n) − P3(n− 1) =
(n− 2)(n + 1)

2
,

dd�� P3(n) =
n(n2 − 7)

6
.

§ 3 Ý


1. ^Ð�1C�òe�Ý
C�þn�/Ý
:

(1)








0 4 10 1

4 8 18 7

10 18 40 17

1 7 17 3








; (2)











3 2 −1 2 0 1

4 1 0 −3 0 2

2 −1 −2 1 1 −3

3 1 3 −9 −1 6

3 −1 −5 7 2 −7











;

): (1)








4 8 18 7

0 4 10 1

0 0 0 0

0 0 0 0








.

(2)











3 2 −1 2 0 1

0 −1 4 −11 −1 5

0 0 −16 38 5 −23

0 0 0 0 0 0

0 0 0 0 0 0











.
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2. ^Ð��C�òe�Ý
C�en�/Ý
:

(1)








2 1 −30 5

1 0 4 −1

−3 −2 10 −11

−1 1 −15 8








; (2)











1 −1 2 3 4

2 1 −1 2 0

−1 2 1 1 3

1 5 −8 −5 −12

3 −7 8 9 13











.

): (1)








2 0 0 0

1 19 0 0

−3 −35 −54 0

−1 −30 27 0








.

(2)











1 0 0 0 0

2 3 0 0 0

−1 1 14 0 0

1 6 0 0 0

3 −4 −14 0 0











.

§ 4 1�ª�½Â

1. (½e�1�ª��c¡¤��ÎÒ:

(1) a31a12a23a44; (2) a31a23a14a42a65a56.

): (1) +.

(2) +.

2. e���´Ä�Ê�1�ª�� (�)ÎÒ)?

(1) −a21a34a15a23a52; (2) +a32a15a24a53a41.

): (1) Ø´.

(2) ´.

3. �Ño�1�ª¥¤k�KÒ��¹Ïf a23 ��.

): −a11a32a23a44, −a31a42a23a14, −a41a12a23a34.

4. 3 n �1�ª¥, ü^é��þ����¦È©OA��oÎÒ?

): +, (−1)
n(n−1)

2 .

5. U½ÂO�e�1�ª:
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(1)

∣
∣
∣
∣
∣
∣
∣
∣
∣

0 0 3 4

1 0 0 0

0 2 0 0

0 2 3 4

∣
∣
∣
∣
∣
∣
∣
∣
∣

; (2)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

0 0 · · · 0 1

0 0 · · · 2 0

. . . . . . . . . . . . . . . . . . . .

0 n− 1 · · · 0 0

n 0 · · · 0 0

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(3)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

0 1 0 · · · 0 0

0 0 2 · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · 0 n− 1

n 0 0 · · · 0 0

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

; (4)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 a a · · · a

0 2 a · · · a

0 0 3 · · · a

. . . . . . . . . . . . . . . .

0 0 0 · · · n

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

.

(5)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

a x 0 0 0

0 a x 0 0

0 0 a x 0

0 0 0 a x

x 0 0 0 a

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

; (6)

∣
∣
∣
∣
∣
∣
∣
∣
∣

a 0 0 b

0 c d 0

0 e f 0

g 0 0 h

∣
∣
∣
∣
∣
∣
∣
∣
∣

;

): (1) 0.

(2) (−1)
n(n−1)

2 n!.

(3) (−1)n−1n!.

(4) n!.

(5) a5 + x5.

(6) acfh+ bdeg − adeh − bcfg.

§ 5 1�ª�5�

1. O�e�1�ª:

(1)

∣
∣
∣
∣
∣
∣
∣

ab ac ae

bd −cd ed

bf cf −ef

∣
∣
∣
∣
∣
∣
∣

; (2)

∣
∣
∣
∣
∣
∣
∣
∣
∣

3 1 1 1

1 3 1 1

1 1 3 1

1 1 1 3

∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(3)

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 1 1

1 2 4 8

1 3 9 27

1 4 16 64

∣
∣
∣
∣
∣
∣
∣
∣
∣

; (4)

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 2 3 4

2 3 4 1

3 4 1 2

4 1 2 3

∣
∣
∣
∣
∣
∣
∣
∣
∣

;
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(5)

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 + a 1 1 1

1 1 − a 1 1

1 1 1 + b 1

1 1 1 1 − b

∣
∣
∣
∣
∣
∣
∣
∣
∣

; (6)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 1 1 1

a1 a a2 a2 a2

a2 a2 a a3 a3

a3 a3 a3 a a4

a4 a4 a4 a4 a

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

.

): (1) 4abcdef .

(2) 48.

(3) 12.

(4) 160.

(5) a2b2.

(6) (a− a1)(a− a2)(a− a3)(a− a4).

2. y²e��ª:

(1)

∣
∣
∣
∣
∣
∣
∣

sin2 α cos2 α cos(2α)

sin2 β cos2 β cos(2β)

sin2 γ cos2 γ cos(2γ)

∣
∣
∣
∣
∣
∣
∣

= 0;

(2)

∣
∣
∣
∣
∣
∣
∣

b+ c c+ a a+ b

b′ + c′ c′ + a′ a′ + b′

b′′ + c′′ c′′ + a′′ a′′ + b′′

∣
∣
∣
∣
∣
∣
∣

= 2

∣
∣
∣
∣
∣
∣
∣

a b c

a′ b′ c′

a′′ b′′ c′′

∣
∣
∣
∣
∣
∣
∣

;

(3)

∣
∣
∣
∣
∣
∣
∣
∣
∣

a2 (a+ 1)
2

(a+ 2)
2

(a+ 3)
2

b2 (b+ 1)
2

(b+ 2)
2

(b+ 3)
2

c2 (c+ 1)
2

(c+ 2)
2

(c+ 3)
2

d2 (d+ 1)
2

(d+ 2)
2

(d+ 3)
2

∣
∣
∣
∣
∣
∣
∣
∣
∣

= 0.

y²: (1) �> =

∣
∣
∣
∣
∣
∣
∣

sin2 α− cos2 α cos2 α cos(2α)

sin2 β − cos2 β cos2 β cos(2β)

sin2 γ − cos2 γ cos2 γ cos(2γ)

∣
∣
∣
∣
∣
∣
∣

=

∣
∣
∣
∣
∣
∣
∣

− cos(2α) cos2 α cos(2α)

− cos(2β) cos2 β cos(2β)

− cos(2γ) cos2 γ cos(2γ)

∣
∣
∣
∣
∣
∣
∣

= 0.

(2) �> = 2

∣
∣
∣
∣
∣
∣
∣

a+ b+ c c+ a a+ b

a′ + b′ + c′ c′ + a′ a′ + b′

a′′ + b′′ + c′′ c′′ + a′′ a′′ + b′′

∣
∣
∣
∣
∣
∣
∣

= 2

∣
∣
∣
∣
∣
∣
∣

a+ b+ c −b −c
a′ + b′ + c′ −b′ −c′
a′′ + b′′ + c′′ −b′′ −c′′

∣
∣
∣
∣
∣
∣
∣

= m>.
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(3) �> =

∣
∣
∣
∣
∣
∣
∣
∣
∣

a2 2a+ 1 4a+ 4 6a+ 9

b2 2b+ 1 4b+ 4 6b+ 9

c2 2c+ 1 4c+ 4 6c+ 9

d2 2d+ 1 4d+ 4 6d+ 9

∣
∣
∣
∣
∣
∣
∣
∣
∣

=

∣
∣
∣
∣
∣
∣
∣
∣
∣

a2 2a+ 1 2 6

b2 2b+ 1 2 6

c2 2c+ 1 2 6

d2 2d+ 1 2 6

∣
∣
∣
∣
∣
∣
∣
∣
∣

= 0.

§ 6 1�ªU�1(��)Ðm

1. O�1�ª

D =

∣
∣
∣
∣
∣
∣
∣
∣
∣

a 1 2 3

b −1 0 1

c 0 2 3

d 1 −1 −2

∣
∣
∣
∣
∣
∣
∣
∣
∣

�1�������ê{fª.

): A11 = −1, A21 = 1, A31 = 2, A41 = 2.

2. ¦1�ª ∣
∣
∣
∣
∣
∣
∣

1 −1 2

3 2 1

0 1 4

∣
∣
∣
∣
∣
∣
∣

��Ü����ê{fª.

): A11 = 7, A12 = −12, A13 = 3, A21 = 6, A22 = 4, A23 = −1,

A31 = −5, A32 = 5, A33 = 5.

3. O�e��1�ª:

(1)

∣
∣
∣
∣
∣
∣
∣
∣
∣

a b c d

a b d c

b a c d

b a d c

∣
∣
∣
∣
∣
∣
∣
∣
∣

; (2)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

0 1 2 −1 −4

2 0 1 2 1

−1 3 −5 1 2

3 −3 1 2 1

2 1 0 3 5

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(3)

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 1 1

x 0 1 1

x2 1 0 1

x3 1 1 0

∣
∣
∣
∣
∣
∣
∣
∣
∣

; (4)

∣
∣
∣
∣
∣
∣
∣
∣
∣

x y z t

2 2 2 1

2 2 1 2

2 1 2 2

∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(5)

∣
∣
∣
∣
∣
∣
∣
∣
∣

a 0 0 b

0 c d 0

0 e f 0

g 0 0 h

∣
∣
∣
∣
∣
∣
∣
∣
∣

.
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): (1) 0.

(2) −53.

(3) −x3 − x2 − x+ 2.

(4) −5x+ 2y + 2z + 2t.

(5) (ah− bg)(cf − ed).

§ 7 ^1�ª)�5�§|��.%{K

1. ^�.%{K)e��5�§|:

(1)







3x1 + 2x2 + x3 = 5,

2x1 + 3x2 + x3 = 1,

2x1 + x2 + 3x3 = 11;

(2)







x1 + 2x2 + 3x3 + 4x4 = 0,

x1 + x2 + 2x3 + 3x4 = 0,

x1 + 5x2 + x3 + 2x4 = 0,

x1 + 5x2 + 5x3 + 2x4 = 0;

(3)







x1 + 2x2 + 3x3 − 2x4 = 6,

2x1 + x2 + 2x3 − 3x4 = 8,

3x1 + 2x2 − x3 + 2x4 = 4,

2x1 + 3x2 + 2x3 + x4 = 4;

(4)







2x1 + x2 − 5x3 + x4 = −14,

x1 − 3x2 − 6x3 = −11,

− 2x2 + x3 + 2x4 = 9,

x1 + 4x2 + 7x3 + 6x4 = 20.

): (1) |A| = 12, |B1| = 24, |B2| = −24, |B3| = 36, x1 = 2, x2 = −2,

x3 = 3.

(2) |A| = −20, |B1| = |B2| = |B3| = |B4| = 0, x1 = x2 = x3 = x4 = 0.

(3) |A| = 12, |B1| = 12, |B2| = 24, |B3| = −12, |B4| = −24, x1 = 1,

x2 = 2, x3 = −1, x4 = −2.

(4) |A| = −9, |B1| = −9, |B2| = 18, |B3| = −27, |B4| = −9, x1 = 1,

x2 = −2, x3 = 3, x4 = 1.

2. ¦���gõ�ª f(x) = ax2 + bx + c, ¦f(1) = 1, f(−1) = 9,

f(2) = 3.

): f(x) = 2x2 − 4x+ 3.

3. y²àg�5�§|







x1 + x2 + · · · + xn = 0,

2x1 + 22x2 + · · · + 2nxn = 0,

· · · · · · · · · · · ·
nx1 + n2x2 + · · · + nnxn = 0
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=k").

y²: Ï�

|A| =

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 · · · 1

2 22 · · · 2n

...
...

. . .
...

n n2 · · · nn

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

= 1!2! · · · n! 6= 0,

�âíØ 7.2, ��§�k").

§ 8 .Ê.d½n

1. òe�1�ªU.Ê.d½nÐm, ±¦e�1�ª��:

(1)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

5 6 0 0 0

1 5 6 0 0

0 1 5 6 0

0 0 1 5 6

0 0 0 1 5

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

; (2)

∣
∣
∣
∣
∣
∣
∣
∣
∣

a 0 b 0

0 c 0 d

y 0 x 0

0 w 0 z

∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(3)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 1 0 0 0

2 3 4 0 0 0

3 10 16 0 0 0

−1 1 0 1 1 1

−2 4 1 1 2 3

−3 16 1 1 4 9

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(4)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

a 0 0 . . . . . . . . . . . . . . 0 0 b

0 a 0 . . . . . . . . . . . . . . 0 b 0

0 0 a . . . . . . . . . . . . . . b 0 0
..............

..............

..............

. . . . .
. ..............

..............

..............

a b

b a

. .
. . . .

0 0 b . . . . . . . . . . . . . . a 0 0

0 b 0 . . . . . . . . . . . . . . 0 a 0

b 0 0 . . . . . . . . . . . . . . 0 0 a

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
2n

.

): (1) U1 1, 2 ü1Ðm:
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�ª =

∣
∣
∣
∣
∣

5 6

1 5

∣
∣
∣
∣
∣
·

∣
∣
∣
∣
∣
∣
∣

5 6 0

1 5 6

0 1 5

∣
∣
∣
∣
∣
∣
∣

+ (−1)7

∣
∣
∣
∣
∣

5 0

1 6

∣
∣
∣
∣
∣
·

∣
∣
∣
∣
∣
∣
∣

1 6 0

0 5 6

0 1 5

∣
∣
∣
∣
∣
∣
∣

+(−1)8

∣
∣
∣
∣
∣

6 0

5 6

∣
∣
∣
∣
∣
·

∣
∣
∣
∣
∣
∣
∣

0 6 0

0 5 6

0 1 5

∣
∣
∣
∣
∣
∣
∣

= 665.

(2) (ax− by)(cz − dw).

(3) U1 1, 2, 3 1Ðm:

�ª =

∣
∣
∣
∣
∣
∣
∣

1 1 1

2 3 4

3 10 16

∣
∣
∣
∣
∣
∣
∣

·

∣
∣
∣
∣
∣
∣
∣

1 1 1

1 2 3

1 4 9

∣
∣
∣
∣
∣
∣
∣

= −2.

(4) �gU¥mü1Ðm:

�ª = (a2 − b2)D2(n−1) = · · · = (a2 − b2)n.

2. O�e�1�ª��:

(1)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 a1 0 · · · 0 0

−1 1 − a1 a2 · · · 0 0

0 −1 1 − a2 · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · 1 − an−1 an

0 0 0 · · · −1 1 − an

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(2)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

n −1 0 0 · · · 0 0

n− 1 x −1 0 · · · 0 0

n− 2 0 x −1 · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2 0 0 0 · · · x −1

1 0 0 0 · · · 0 x

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(3)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

x a a · · · a a

−a x a · · · a a

−a −a x · · · a a

. . . . . . . . . . . . . . . . . . . . . . . . . .

−a −a −a · · · −a x

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;
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(4)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

x y y · · · y y

z x y · · · y y

z z x · · · y y

. . . . . . . . . . . . . . . . . . . .

z z z · · · x y

z z z · · · z x

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

;

(5)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

a+ b b 0 · · · 0 0

a a+ b b · · · 0 0

0 a a+ b · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · a+ b b

0 0 0 · · · a a+ b

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

, (a 6= b);

(6)

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 2 3 · · · n− 1 n

2 3 4 · · · n 1

3 4 5 · · · 1 2

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

n− 1 n 1 · · · n− 3 n− 2

n 1 2 · · · n− 2 n− 1

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

.

): (1) �1\�1 1 1, � D = (−1)n+2 · (−1)n = 1.

(2) g1 1 1å, �1¦± x \�e�1:

D = (−1)n+1(1 + 2x+ · · · + nxn−1) · (−1)n−1 = 1 + 2x+ · · · + nxn−1.

(3) Dn =

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

a a a · · · a a

−a x a · · · a a

−a −a x · · · a a

. . . . . . . . . . . . . . . . . . . . . . . . . .

−a −a −a · · · −a x

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

+

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

x− a a a · · · a a

0 x a · · · a a

0 −a x · · · a a

. . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 −a −a · · · −a x

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
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=

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

a a a · · · a a

0 x a · · · a a

0 0 x · · · a a

. . . . . . . . . . . . . . . . . . .

0 0 0 · · · 0 x

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

+ (x− a)Dn−1,

¤±

Dn = a(x+ a)n−1 + (x− a)Dn−1,

q,

Dn = DT
n = a(x− a)n−1 + (x+ a)Dn−1,

�� Dn−1, �

Dn =
1

2
[(x+ a)n + (x− a)n].

(4) aquþK, ��

Dn = z(x− y)n−1 + (x− z)Dn−1.

q

Dn = DT
n = y(x− z)n−1 + (x− y)Dn−1.

� y 6= z �, dþüª�� Dn−1, �

Dn =
y(x− z)n − z(x− y)n

y − z
.

� y = z �, d4íúª Dn = y(x − y)n−1 + (x − y)Dn−1, � Dn =

(x+ (n− 1)y)(x− y)n−1.

(5) - ∆0 = 1, ∆1 = a+ b =
a2 − b2

a− b
, . . . , ∆n =

an+1 − bn+1

a− b
, K

(a+ b)∆k − ab∆k−1 = ∆k+1.

Dn =

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

∆1 b∆0 0 · · · 0 0

a a+ b b · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · a+ b b

0 0 0 · · · a a+ b

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
n
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=

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

∆1 b 0 · · · 0 0

a a+ b− ab∆0

∆1

b · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · a+ b b

0 0 0 · · · a a+ b

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
n

=

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

(a+ b)∆1 − ab∆0 b∆1 0 · · · 0 0

a a+ b b · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · a+ b b

0 0 0 · · · a a+ b

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
n−1

=

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

∆2 b∆1 0 · · · 0 0

a a+ b b · · · 0 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 0 0 · · · a+ b b

0 0 0 · · · a a+ b

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
n−1

= · · · = ∆n =
an+1 − bn+1

a− b
.

(6)

Dn =

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

n(n+ 1)

2
2 3 · · · n− 1 n

n(n+ 1)

2
3 4 · · · n 1

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
n(n+ 1)

2
n 1 · · · n− 3 n− 2

n(n+ 1)

2
1 2 · · · n− 2 n− 1

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

=
n(n+ 1)

2

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

1 2 3 · · · n− 1 n

1 3 4 · · · n 1

. . . . . . . . . . . . . . . . . . . . . . . . . . .

1 n 1 · · · n− 3 n− 2

1 1 2 · · · n− 2 n− 1

∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣
∣

=
n(n+ 1)

2

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 2 3 · · · n− 1 n

0 1 1 · · · 1 1 − n

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

0 1 − n 1 · · · 1 1

∣
∣
∣
∣
∣
∣
∣
∣
∣
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=
n(n+ 1)

2

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 · · · 1 1 − n

1 1 · · · 1 − n 1

. . . . . . . . . . . . . . . . . . . . . . . . . . . .

1 − n 1 · · · 1 1

∣
∣
∣
∣
∣
∣
∣
∣
∣

n−1

= (−1)
n(n+ 1)

2

∣
∣
∣
∣
∣
∣
∣
∣
∣

1 1 · · · 1 1 − n

1 1 · · · 1 − n 1

. . . . . . . . . . . . . . . . . . . . . . . .

1 1 · · · 1 1

∣
∣
∣
∣
∣
∣
∣
∣
∣

n−1

= (−1)
n(n−1)

2
nn−1(n+ 1)

2
.


